REVISED MONT BELVIEU PROPANE FUTURES - 03/11/19 CLOSE

Trade Date: Monday, 11 Mar 2019 (Final)

All market data contained within the CME Group website should be considered as a reference only and should not be used as validation against, nor as a complement to, real-time market data feeds. Settlement prices on instruments without open interest or volume are provided for web users only and are not published on Market Data Platform (MDP). These prices are not based on market activity.

Month	Open	High	Low	Last	Change	Settle	Estimated Volume	Prior Day Open Interest
MAR 19	-	-	-	-	+.00527	.68920	0	11,130
APR 19	-	-	-	-	+.00812	.69375	1,612	14,295
MAY 19	-	-	-	-	+.00937	.69250	480	10,595
JUN 19	-]-]-	-	+.00937	.69250	620	9,995
JLY 19	-	-	-	2	+.00937	.69250	270	7,115
AUG 19	-	-	-	-	+.00937	.69500	55	6,928
SEP 19	1	_	_	2	+.00938	.70063	55	6,622
OCT 19	-	-	-	-	+.00938	.70688	150	5,299
NOV 19	-	-	-	-	+.00938	.71188	120	5,267
DEC 19	-	-	-	12	+.00938	.71688	135	5,702
JAN 20	-	+	+	-	+.00938	.72188	95	3,250

REVISED ENTERPRISE TE PRODUCTS PIPELINE FERC TARIFF 54.44.0 - RATES EFFECTIVE

RATES (In Cents-per-bbl.) [U] All rates are unchanged.

ITEM NO. 135	Non-Incentive Rates for Propane
--------------	---------------------------------

	Origin			
Destination	Arcadia (Bienville Parish, LA)	Floreffe Junction (Allegheny Co., PA)	Mont Belvieu (Chambers Co., TX)	Tappan Lake (Harrison Co., OH), Todhunter (Butler Co., OH) & Follansbee (Brooke Co., West Virginia)
Arcadia (Bienville Parish, LA)	-		229.03	
Coshocton (Coshocton Co., OH)	654.47		699.15	
Dexter (Stoddard Co., MO)			332.20	
Du Bois (Clearfield Co., PA)	732.50 (1)	375.54 (1)(2)	776.17 (1)	375.54 (1)
Finger Lakes (Schuyler Co., NY)	781.14	546.08	825.05	566.46
Fontaine (Green Co., AR)			312.10	
Greensburg (Westmoreland Co., PA) Harford Mills (Cortland Co., NY)	688.82 (1)	375.54 (1)(2) 527.67 (1)	732.50 (1) 827.85 (1)	375.54 (1) 549.36 (1)
Kingsland (Cleveland Co., AR)			264.71	`
Lebanon (Boone Co., IN)			391.78 (4)	
North Little Rock (Pulaski Co., AR)			279.28	
Oneonta (Otsego Co., NY)		571.21	894.54 (1)	589.63 (1)
Princeton (Gibson Co., IN)	394.29		426.47	
Schaefferstown (Lebanon Co., PA)		553.70 (2)	836.75	546.36
Selkirk (Albany Co., NY)		619.74	951.14 (1)	621.36 (1)
Seymour (Jackson Co., IN)			372.28	
Sinking Spring (Berks Co., PA)	-	553.70 (2)	836.75	546.36
Todhunter (Butler Co., OH)	581.79		626.47	
Twin Oaks(Delaware Co., PA)		681.43 (2) (3)		681.43 (3)
Watkins Glen (Schuyler Co., NY)	741.63 (1)	507.90 (1)	785.52 (1)	530.98 (1)
West Memphis (Crittenden Co., AR)	`		332.20 (4)	`

Northern Gas Transport, Inc. Box 106 Lyndonville, VT 05851-0106 1-800-648-1075 FAX: 802-626-5039

March 12, 2019

To: All Customers

Re: Fuel Surcharge Notice

As of Monday, March 11th, 2019 the Department of Energy New England average price per gallon of diesel fuel was \$3.183. All deliveries invoiced from Sunday, March 17th, 2019 through Saturday, March 23rd, 2019 will be line item assessed at 10.0% fuel surcharge. Thank you and should you have any questions, please contact Susan Noyes at 1-800-648-1075 extension 223.

Best Regards,

Bruce Grant President/Owner

Northern Gas Transport Inc. - Selkirk to Keene

Revised Northern Gas Transport Inc. - Selkirk to Keene

0 "	D D .	D 01			T / 101	T
Gallons	BaseRate	BaseCharge	Fuel Surcharge FS	-	TotalCharge	Total Rate Per Gallon
9,200	\$0.0784	\$721.28	1.00%	\$7.21	\$728.49	\$0.0792
9,200	\$0.0784	\$721.28	2.00%	\$14.43	\$735.71	\$0.0800
9,200	\$0.0784	\$721.28	3.00%	\$21.64	\$742.92	\$0.0808
9,200	\$0.0784	\$721.28	3.50%	\$25.24	\$746.52	\$0.0811
9,200	\$0.0784	\$721.28	4.00%	\$28.85	\$750.13	\$0.0815
9,200	\$0.0784	\$721.28	4.50%	\$32.46	\$753.74	\$0.0819
9,200	\$0.0784	\$721.28	5.00%	\$36.06	\$757.34	\$0.0823
9,200	\$0.0784	\$721.28	5.50%	\$39.67	\$760.95	\$0.0827
9,200	\$0.0784	\$721.28	6.00%	\$43.28	\$764.56	\$0.0831
9,200	\$0.0784	\$721.28	6.50%	\$46.88	\$768.16	\$0.0835
9,200	\$0.0784	\$721.28	7.00%	\$50.49	\$771.77	\$0.0839
9,200	\$0.0784	\$721.28	7.50%	\$54.10	\$775.38	\$0.0843
9,200	\$0.0784	\$721.28	8.00%	\$57.70	\$778.98	\$0.0847
9,200	\$0.0784	\$721.28	8.50%	\$61.31	\$782.59	\$0.0851
9,200	\$0.0784	\$721.28	9.00%	\$64.92	\$786.20	\$0.0855
9,200	\$0.0784	\$721.28	9.50%	\$68.52	\$789.80	\$0.0858
9,200	\$0.0784	\$721.28	10.00%	\$72.13	\$793.41	\$0.0862
9,200	\$0.0784	\$721.28	10.50%	\$75.73	\$797.01	\$0.0866
9,200	\$0.0784	\$721.28	11.00%	\$79.34	\$800.62	\$0.0870
9,200	\$0.0784	\$721.28	11.50%	\$82.95	\$804.23	\$0.0874
9,200	\$0.0784	\$721.28	12.00%	\$86.55	\$807.83	\$0.0878
9,200	\$0.0784	\$721.28	12.50%	\$90.16	\$811.44	\$0.0882